I AT ST AT AT ST,
firerTr W, e aer, et TR,
T — 226010
- 43 /07/FRFH0ITHO(ITE)/2019-21/01-9ET211/2019
TGS & ;01 Feweit, 2021
ST HET
oo wrem-01-wdiem/2019, wftafere ser sy et (@ =) sREfaeres
GlE1-2019 % siaia ferfad wiar (qe) fieh-21-10-2021 =1 &1 qrfert #f st 6t et |
e et witerr (qer) e aret T e yRtesnrett 1 313t Wi (A, B, C, D, E,
F, G 9 H) Ud facfier ureft ot swar qRaapmait st a1rst @7 (A, B, C, D, E, F, G 9 H) & Geifeara
ST Sreafefart o SwTrd ST St SereTee W stdedle e & el &, S R 07-11-2021
% I T |
srvafifar bt =g off g forar ST € o5 s g S B e sae g A Al
fererfer wrefter Sieft 2, @Y ST bt Srse upssse.gov.in TR T Objection Raise et foies
T fererer st gifesar foramor s S (Login) ¢ & Iwree 10t amufyr i &t &
Tohd 8 | mﬁ?\cﬂwﬁw-w,fuwléwmddt;ﬁ%%mﬁﬂﬂtﬁmﬁrwﬂ?ﬂ(
Tel Y ST | Tafer gt e sy srfeam Rl 07-11-2021 8 | 5o fifYr & wre ¥7 R @ w2

ST e ST &St e oA e wd: WHT &) SR |
HeTHeh- T | @
51 11222
Iy,
(et afr)

ST |




0% Mﬂﬂ«&

| -~ N\ iﬁtﬂ
It our el Qar T RN, TGS
wftifer st ey e (wn0=0) frimees v (g war) - 2019
ol fafk 21 IHRE 2021
- F2 - SHIFT-1
Q.Be Bouklet Series-A !
Question | Answer ‘Question | Answer ‘Queaﬂnn ‘ ‘Answer Question , Answer
No. Key No.  Key J_ | Key No. | Key
PART -1 PRRT =2
CRUERAL GENERAL KNOWLEDGE
 INTELLIGENCE TEST B R e e T e
1 B 26 s ¥ 51 | A 76 A
2 b 27 by |+ |52 6 -2l A
2 A & N C 53 B | 1B A
I 2 D 54 | C 7 | 8
5 {1 A % % B8 | | 5 | A 80 B
6 B 3> | B 56 D 81 A
7 c 32 A 57 B 82 -8
8 B 3 | B @ | v || & .7 §
9 D 3 | D 59 | D 84 D
10 #NE 35 B 60 | A 85 B
u o, A 36 A 61 B 86 —b
12 - B B 62 D 87 B
13 ¥ ¢ 38 D 63 B 8 | A
14 A 39 D 64 D 89 B
15 B 0 | B 65 D 90 D
16 c - an B 66 B 91 | D
17 | Do 2 | A 67 B 92 B
18 B 43 c 68 A 93 €
19 | D 4 | B 69 A 94 A
20 C 45 c 70 e 95 B
21 | D % | cC 71 A 9% c
22 B | [ 47 | A 72 c 97 | B
.23 B 48 D 73 B | 98 A
| 24 | 8B | 49 @ cC 74 | ¢ | | 99 D
7z | e 50 c 5 | B 00 | D
s
& maﬁ"‘



) = o e : 01 /2019
: e Y & sl
I oW AL IERr Yam T IRV, e J
wfeferd ot refiresr Tam (w10=0) Sferimers vl (qer whan) — 2019 1
e fofr 21 arget 2021 ]
F2 - SHIFT-1 1
o _ Q.Booklet Series-B ]
Question ‘ Answer Question ; Answer Question | Answer Question = Answer
No. | Key No. | Key No. I- Key No. [ Key
ARt PART -2
GENERAL GENERAL KNOWLEDGE
' INTELLIGENCE TEST _ AL e
1 | B 2% B 51 A % | ¢
2 c 27 i | | =2 B 77 B
3 A B W D 53 | ¢ 78 | B |
4 B ¥, | € 54 c 73 -
| s | ¢, LMY s 55 A 80 B
o | | 5 | o | e | B
/ . 32 8 L . 2 .
8 D ® 33 | D 58 A || & B
9 c 34 D 59 B 84 | B
L J10 .0 N 3 . D 60 A — & = ==
uw Gy A 36 c 61 B 86 D
12 c 37 | D & | € 87 | A
13 A 38 | B | | 63 D 88 | C
14 B 39 | ¢ @4 | ¢ || 8 1 ¢ |
15 B 40 A 65 A L, S .
16 c 41 C 66 C 91 | D
17 c 42 A . 67 | Db 2 | C
18 c 43 e 68 c 93 A
19 B M D 69 A | ¢
20 A 45 C 70 A 95 C
21 A 46 | A B E % | A
22 D 47 | e 72 £ " 97 A
23 D 48 c ) D 98 C
24 D 49 | B 74 B | | 99 D
5 1 e | 50 D 75 € 100 | ¢
()
qen A



- T e : 01—l /2019
- _ Fe g
IR TN I Yot = IR, ES
wftfera e ey da1 (w0=0) wieamerss g (g wien) — 2019
ol ol 21 aregeR 2021
F2 - SHIFT-1
Q.Booklet Sexies-C :
Question | Answer Question | Answer Question 1 Answer Question ] Answer
No. | Key | | MNo. | Key o|'No. | Key | | No. | Key
PART -1 B
GENERAL GENERAL KNOWLEDGE
INTELLIGENCE TEST .. :
1 B 2% £ S8 | 5L c 76 B
2 g | 27 D | g2 | B 77 c
3 D 28 D 53 D 78 =
4 | € | i | ¢ 54 c 9 | D
5 B. 30 C 55 c 80 D
6 D 31 A 56 B 81 D
7 | ANNT32 | B 57 B 822 B
8 (I 33 B S g 4 4 E c |
9 . 4 34 c | | =0 B 2 VR
. 10 A 35 B 60 D 85 A
11 D 36 B | 61 g 86 B
12 D 37 B 62 c 87 A
13 B 38 c 63 e g 1 B
14 A 39 | A 64 c 89 | A
15 D 40 D 65 | B 90 C
16 C 41 B 66 | D | | 8. D
17 c 42 A 67 | D 92 | D
18 c 43 € 68 D 93 D
19 D 4 | D 69 | A 94 ©
2 | A 45 b 70 D 95 D. |
21 D 46 D 71 A 96 A
2 | A 47 D 2 | D _w | &
23 | 8 8 | A | [ 73 | a || 8 D
24 D 49 A 74 | D 99 D
25 B 50 | A R 100 A
(Lm/
qen Faas
Sovlo IR Hal A

AETH

el



‘Terarrom @ - 01 —lien /2019
- i swgsh
IR ToW e Y = AN, S
wfefra srert svefiresy dam (0=0) wherimeres v (qer wlian) — 2019
e faifr 21 aragaR 2021
F2 - SHIFT-1
Q.Booklet Series-D :
Question | Answer Question ‘ Answer Question rAnswer Question | Answer
No. | Key No. | Key | No. | Key No. | Key
PART - 1 BREE -3
Rt GENERAL KNOWLEDGE
| INTELLIGENCE TEST e G
1 | ¢ 2 b 51| D T8
3 ] A 27 D 52 D B D
- AR | | @ N e | & i W 4 €
4 c 29% | Vo 54 D 79 D
5 D 30 D 55 c 80 c
6 D" o T | O 56 o 81 D
7 A 32 ~C 57 T 82 B
8 £ N 33 | 58 c e
_____ 9 D 34 D || & [ b @ 8
10 1 35 D 60 D 8 | C
16§ W 40 8 61 | B | | 86 b
129,/% 8 37 A 62 B 87 A
13 D 38 | c 63 A 88 D
14 c 39 A 64 B 89 A
15 B 40 A 65 | D % | b
16 c 41 B | | e | A -
17 A | 42 A 67 D 52 1 B
18 D 43 A 68 A 93 €
19 A 44 A | 69 B | | 94 C
20 | D 45 B 70 B 95 | A
21 B 46 € " | 72 | B 9 c
22 D 47 | D 72 | A 97 A
23 B 48 A 73 P | | 98 D
24 A 49 B 74 | D 9 | D
5 | A 50 B 75 B 100 | B
(i)
wden s



o - — Termas @@ : 01 —wlign /2019

I golt
I Se A1 Yl T IR, S
wiefera srere srefrey ar (w10=0) wftrimers whur (gE war) - 2019
il o 21 aregE 2021 '
F2 - SHIFT-1
Q.Booklet Series-E
Question | Answer Question | Answer ! ‘Quesﬂon (Answer | |Question 1 Answer
. No. Key No. Key Y | WfNo. Key | No. | Key
PART — 1 ST
CRNESAE GENERAL KNOWLEDGE
INTELLIGENCE TEST ¥ : A
1 [ 8 | [ 2 F Ko 51 | A %6 [ A
2 | B 27 B . 52 B 77 D
3 B 28 A 53 | b 78 | B
4 | °E 2, "8 54 | B 79 A
5 | A_ 3 | D 55 . 80 | B
6 | Aelld B> B 56 A 1 m B |
7 | " B A 57 B 82 | A
B | #N® 33 | B 58 | B | | 8 | A
o D 34 | B 59 D 84 B
10 B s [ ¢ 60 c B f W
u © || % | b || & B 8 | B
12, § B 37 A 62 B 87 c
3 3 A 38 c 63 | € 8 | D
4 | 39 B & | b 1] B [ B
15 B 40 B 65 A | 9 I B
16 c 41 A 66 c 86 | €
17 € _ 42 D 62 | ¢ 92 B
18 D 43 A 68 | D 93 C
19 B a4 A 69 £ 9 | D
20 D 45 c 70 C 95 D
21 A 46 A 71 c %5 | D
B | B 47 c 72 D 7 | B
23 A 48 B 73 | A 98 D
24 € 49 ST 74 | B 9 | ¢
5- | ¢ so | B - B 100 B
()
e AP i
Follo LR S =



==—————————=t=—= T fawH AT : 01 —Wwi/2019

S—yl=S A _ IwE
SN S W S, W
wfenfere sra avefieee e (T0F0) TR T (T whaT) — 2019

i e 21 R 2021

F2 - SHIFT-1
Q.Booklet Series-F
Question | Answer Question | Answer .ﬁhgﬁfion - Answer Question | Answer
No. Key No. Key No. Key No. Key
FARTEd PART - 2
e, GENERAL KNOWLEDGE
INTELLIGENCE TEST
1 A 26 D 51 A .
2 D 27 D 52 | B 97 | B
== c & Q B 53 e m_| €
4 ] A | L " A 54 8 B 1 A -
5 C 30 A 55 D 80 A
o | N F s | a | [ m | B |
7 B 32 B 57 A 82 B
8 A 33 C B[ A 83 D
9 B 34 c 59 c 84 C
10 o 35 A 60 B 85 c
11 A 36 e 61 D 86 B
12 p | [ 3@ | A 62 D 87 c
13 % ¢ 38 B 63 | ¢ 88 c
14 C 39 B 64 D 89 C
_18 1. b 40 B 65 e i w @ B
16 A 41 B 66 D 91 D
17 A || a2 C 67 | B 92 A
18 c 43 A 68 A 93 g
19 | D 44 A 69 A 24 D
20 A | [ A — A} 9% B
21 B 46 D n B 96 A
2 | s | [ e | A | [ m | A || % | a
23 | B 48 D 73 D 98 A
‘24 A 49 A 74 | D 99 A
25 D 5% | D 75 A 100 | | T




> i P T we : 01 —wlign/2019
el —— -4\ swit
IO e HAHE QT =I5 AR, TEAS
i srer e Qe (T0=0) frmers e (qEr alar) — 2019
i foif 21 arRgEt 2021
F2 - SHIFT-1
‘ Q.Booklet Series-G —
Question | Answer Question E Answer | WQues’ﬂqn } Answer Question | Answer
No. Key Na. f Key L | No. Key i No. Key
ik g ,' PART -2
GENERRL GENERAL KNOWLEDGE
INTELLIGENCE TEST - ¥ 1,5 A =" =
1 [ 8 || % E MW 51 [ a [ 7 [ ¢
I - Za W | | 2 | c S
3 c 28 B | 53 C 78 c
4 | B | .2 | B 54 B 79 A
L 5 By P . " C 55 A . A
6 D 31 B 56 | B 81 A
7 c 32 C 57 | D - 82 c
8 | BN = D ss | ¢ || & | b
9 D 4 | D 59 A || 8 | D
10 D 35 A 60 | A 85 A
11 A 36 A 61 D 86 B
12 A i D 62 D 8 | D
3% o || 38 | B 68 | B 88 B
1 e 39 L s i D 89 0
15 | A 40 D 65 B 90 B
16 B 41 D 66 D 91 D
v | ¢ || 4 | B || 6 B 22 | A |
18 D | | 48 | B 68 B | | o3 D
9 | ¢ a4 D 6 | b || o | A
20 D 45 D 70 D 95 B
21’ A 46 A 71 A 96 D
e D 47 c 7| A 97 e
23 | A | | 48 B 73 C 98 D
2% c 49 c 74 A 9 | ¢
-5 2l B I B 75 D 100 b
\@’4
wden FEAT
Jowe W{E‘_ -



————— o we : 01 — e/ 2019]
I e AR AT G4 AN, TS
wfttfera arer arefirey dar (F10=0) femrors whET (gEr W) - 2019
e fafr 21 swgan 2021
F2 - SHIFT-1
. __QBooklet Series-H ———
Question | Answer Question | Answer | | Question l Answer Question | Answer
No. Key No. Key | ‘No. | Key No. | Key
HART] PART - 2
SESERAL \GENERAL KNOWLEDGE
INTECHGENCE TEST | g2 ; e
S T 26 Ag V| 51 A ] 7 | A |
B 2 | | 52 B 4 B
3 c 28 c 53 A 78 A
4 | A | dm29 | A 54 B 79 c
5 c 2%0 B 55 A 80 A
6 | 4B 31 A 56 C 81 B |
7 | 2 32 A 57 A 82 B
2 1 g3 33 | B | 58 B B A
9 D 34 B 59 | A 84 A
10 D | 35 A 60 A 8 | c_
11 A 36 c 61 D 86 D
1% A 7 | A || e c | | e A
13 A | 38 | o || & | B 88 A
4 | b 39 i 64 D | | 89 D
15 | B 40 | 65 A 90 £
16 B 41 A 66 | A B B
% ] € 42 | D 67 B 2 | D
18 € 43 A 68 c - 93 D
19 c M D w8 % | ¢
20 A 45 ¢ | I 7 B 95 D
21 D 46 c 71 D 96 D
2 A N 72 B 97 D
23 B 48 A 73 D 98 & .
24 | D 49 c 7 A 99 B
& | A s [ 8 || & ¢ | [ W6 | & |
\-@w/).
qden AP
ovo T 3



—— T Ewn : 01 —wiimn/2019
| Fa o
I TR IefE Qar T IR, TEHS
wienfera aren arefiaee Y (w0=0) wrrmerss wliem (qea wien) — 2019
ol ferf¥r 21 aregEr 2021
S2 - SHIFT-2
Q.Booklet Sexies-A -
Question | Answer Question | Answer % Question | Answer Question | Answer
~ No. Key No. | Key | No, Key No. Key
PART — 1
GENERAL SCIENCE AND ARITHMETIC PART -2
e o GENERAL HINDI
1 [ o [ [ 26 EMe¥ | 51 | B % | A
2. C 22 QAP 52 B 7w I B
| 3 A 28 A 53 D 78 | D
4 B 29 - 54 A 79 B
5 | B, 30 B | 55 | B | 80 B
| 6 | 4 31 D | [ s6 € 8L | D
7 c 32 D 57 D 8 | A
8 | o QT A 58 B 83 e
g A 34 | B 59 B 84 | A
| o108 NE 35 A 60 i 8 | D
g™ C 36 B 61 | A 86 B
12 A 37 | B 62 C 87 c
13 B 38 A 63 A N B
14 D 39 c | 64 A 89 C
15 A i 65 E 90 D
16 C = A 66 D 91 c
17 B 42 D 67 B 92 5 e
18 D 43 A 68 A 93 A
19 A 4 | D 69 B 94 A
20 G 45 | B 70 € 95 B
21 D 46 A 71 A 9% c
2 A 47 | D 72 C 97 D
A | B8 48 A 73 A %8 c
24 A 49 | B 74 B 99 A
25 B 50 c 75 | A 100 B
e ng
gouo ?W -%’Eﬁ

aa



T g 01 —w8W1/2019
. . T
ITR e T T =3 TN, S

- wferfra e et @ (@1090) SRR wHar (GE ) — 2019

wile ot 21 aregET 2021
S2 - SHIFT-2
Q.Booklet Sexies-B —
Question | Answer ‘QuestlanJ Answer Question | Answer Question = Answer
No. Key No. Key No. Key No. Key
PART -1
GENERAL SCIENCE AND ARITHMETIC pesE=2
T e R 1 (e GENERAL HINDI
1 [ A 26 | #Bg st | b || 76 B
2 A 27 ¢ |52 ¢ 77 A
3 D B W C 53 | A 78 c
4 C o 2% c 54 D 79 | D
5 D. 30 A 55 B 80 | D
6 £ & 31 D 56 B 81 D
. s 32 8 T . . 82 c
E 8 D 33 D 58 £ 83 B
_ 9 % M | A 59 A s B
| o108 NE a8 4 B s & 5 0 o8B
4\ U 36 A 61 B 86 D
1N A ¥ | e 62 c 87 C
13 ¥ b 38 D 63 A 88 A
14 | A 39 D 64 D 89 c
15 c 40 B 65 B 90 A
16 D 41 D 66 | A 91 e
_ 7 1 & 42 c 67 D 92 e
18 p | | 48 | b 68 C 93 A
T 4 | c || @ | 0o 94 o
20 B 4 | D 50 | © 1} 9 | B
21 C 46 8 71 C 9% D
22 c 47 N D 97 A
23 A 48 o 1 = 1 € 98 c
24 B 9 | c 3 B 99 B
25 A 50 | A &= ] B 100 B
ot FT
Sovio AT

a9



R EE : 01 —wliEn/2019
I et
IO SN e Tt T AT, S
wfttrfera et refiey e (@0=0) shTerss Tl (ger wa) — 2019
e fafr 21 aregar 2021
S2 - SHIFT-2
~ Q.Booklet Series-G -
Question | Answer Question AnswerJ Qu_esiiqn JVAnswer Question i Answer
No. Key No. Key No. Key No. | Key
PART -1
GENERAL SCIENCE AND ARITHVIETIC FARE =2
GENERAL HINDI
1 B | 26 g 51 ) B v 8
2 c | 23 B 52 c 7 F B
3 A | | o8 A | | 53 | B | 78 | D |
4 c - & 54 D . 7a b B
5 A | 280 D 55 C 80 B
- L & g£F | D % A 8 A
o c 32 A 57 c 82 D
8 Fc N 33 c 58 A 83 D
9 B 34 | B %8 ¢ 84 A
10, c 35 A 60 c 85 c
1 D 36 c 61 A 86 c
12 B 37 B 62 c 87 D
13 D 38 c 63 A 88 A
14 € 39 c | 64 D 89 D
15 | B 40 | D 65 D 90 B
16 c O 66 | Db | | 9 B
7 | e 42 D 67 B 92 C
18 D 43 D 68 c 93 A
19 A 44 c 69 A 94 D
20 B 45 B | [ 7200 | B || 98 | B |
21 D 6 | A 771 | b || % |
2 c 47 C 72 A 97 | c
23 c 48 D 73 D 98 D
24 B 49 A 74 A 99 B
il A 50 D 75 D 100 c
)
J[ouo W



e Yo we - 01 —witen/2019
Rkl
I ou refiere Qar TIF AR, TEHS
gftfera s ey dar (@n0=0) sk st (g wan) — 2019
vl fofr 21 sregaT 2021
S2 - SHIFT-2
Q.Booklet Series-D p——r
Question | Answer '.Question' 1 Answer gﬂiuesﬂnn Answer Question ‘, Answer
No. | Key | | No. | Key J QNP | Key Ll
PART -1
GENERAL SCIENCE AND ARITHMETIC PART=3
GENERAL HINDI |
1 D | 26 B 51 B % | D
2 f B 27 - 52 B 77 A
3 A 28 p | | 53 C 78 A
I ™ N T I
5 c 0 | B 55 B 80 c
6 B 31 A 56 A s D
7 c 32 C 57 | b | | 8 A
8 C 33 D 58 B 88 | ¢ |
9 B 34 A 59 A || 8 | B |
10, c 35 B | 60 e 85 D
11 D 36 B 61 | B B | A
12 B 37 A 62 | D 87 B
=Y o | s [ s | [ e | 8 | [ s | s
14 A 39 D 64 D g T R
15 B 1| a5 1 P 65 D % | D
16 —g - 41 c 66 | B 91 c
17 A 42 A 6 | A | | 92 A
18 D 43 B | | 68 | B || 93 | B
19 c M B 69 B 94 | D
20 B 45 D 70 D 95 D
21 c 46 A 71 c 96 c
i D 47 [3 N 97 B
i SN 48 B 73 D 98 B
24 B 49 A 74 B 99 D
| 5 c o | A& ¢l & | B |1 ma ] €




o @@ ; 01 — g /2019
_ : —t = | _ swgsh
I T STENE Vet A IR, @A
afttifera arex sy Qa1 (@10=90) SR e TOaT (g W) — 2019
lieg fofr 21 gt 2021
S2 - SHIFT-2
= _ - Q.Booklet Series-E
Question Answer—l Questinn} Answer Question | Answer Question Answer
- No. | KWey | | No. | wey QRINQNGY | Key | | MNo | Hey
PART - 1
GENERAL SCIENCE AND ARITHMETIC oo
_ GENERAL HINDI
1 D | | 2 ffP¢” | 51 | D 76 D |
z | ® e K | | 5 A 77 D |
3 | B 28 D 53 c 78 D
4 C | 40 N B 54 | B 79 B
.5 % SN 8 . 5 § B e
6 D 31 B 56 A 81 A
7 B T2 c | 5 D 82 | C
_ B | ER W 35 1 8 o 4 & 5 of B3 Ee DU
9 D s | A | m8 | € | 84 B
. 10 B 35 A 60 B 85 C
11 A 3% | D 61 B 86 B
12 D 37 B 62 B | 87 A
- 13 ¥ € 38 D 63 | A | | 8 | B
14 c 39 B 64 D 89 B
15 C 40 e 65 c %0 | A
I a8 I B A | D 66 o | | 91 D
17 A 42 C 67 A 92 D
T D 43 | B 68 | € | 3 | D
19 c 44 D 69 | A | | o4 A
20 B | 45 B W B 95 | B
B A 46 p_| [ # D % | €
| 2 | B 47 A n D 97 | ¢
23 E 48 B - 98 c
% | A 3 | D %k | b 9 | A
g P 0| A s | B 100 B
\est”
e B
oW 3@4@;@1\'&



— - == - Ve e : 01 —alismr/2019
I gt
I W AL Hert <2 TN, SES
wiefera srer arefirey Qe (@i0=0) wleritmreres wlem (qea wham) — 2019
e fafr 21 avRET 2021
S2 - SHIFT-2 i
~ Q.Booklet Series-F
Queat!oﬂ Answer Question ] Answer Question | Answer Question | Answer
No. | Key No. | Key No. Key No. | Key
PART -1
GENERAL SCIENCE AND ARITHMETIC PRS2
- . i R GENERALHINDI
=Y B 26 A 51 A 76 D
2 e 77 D 52 D = I bR
3 | b & NA 53 A | €
RN 2% | " A 54 € 79 B
T S WY 8 55 | B 80 | B
6 D FI¥ | 55 D s A
s B (™52 | A | 57 B 82 il
8 A ® 3 | 8 | 58 D] [ @3 B
9 A - 34 D 59 A B | B
| 10, .8 WD 35 B 60 . B 8 | B
R\ ® | [ % | o || & B | | .8 | A |
L. c - 37 B 62 C 87 S
12 9 b 38 B 63 B 8 |
i [ B 1 [ 3 D 4 | A || ® | b
| 18 c 40 B 65 e . 90 A
16 B 44 | D 66 A | 91 A
17 B  a A 67 B i 92 | b
18 | A 43 A 68 c | 98 B
19 | B MmN 69 B 94 B
20 A 45 © v | ®m il e A
21 A 46 B 71 A 96 D
22 B | 47 | D 72 D 97 A
23 C 48 | € 73 c %| | C
24 D 49 A Z 99 C
25 B | 50 D | | 75 B 100 B

et

al
=ovo ¥

2 T
Gt

n i3}

frere



Tergmom T@ : 01 —wlign/2019

. IRy . .. ..

uﬁrﬁawmﬁm(moao)mnmqﬂm(g@nﬁm) - 2019
ol el 21 sreget 2021

- S2-SHIFT-2

Q. Book]et Series-G.

Questmn | Answer { Question | Answer Question rAnswer Question | Answer
No. | Key | | No. | Key L No. | Key No. | Key
PART — 1
GENERAL SCIENCE AND ARITHMETIC EART <2
- = _ GENERAL HINDI
[ 1 T B [ [ 26 W He¥P] 51 | & 76 g
2 A 27 C [ 58 | € 77 D
3 B B Wy A .53 B 78 . B
4 D e 2 | " A >4 | A [} W | €
5 A 30 c || s | b 80 | A
6 D 31 A = | K 81 | D
N a C 32 D 57 | b 82 D
8 D 33 D 58 b i B
9 B 3 B 59 A 84 | A
J0 N 5. 1 © 60 c | [ & | A
. u 4 D 36 A 61 A 8% | D
12 B 37 A 62 A 87 B
13 A || 3 | D 83 D 88 D |
14 B 3 | € | | e B 89 £
15 D 40 B 65 B 90 c |
16 D 41 A 6 | D | o1 K
| &7 | A 2 | ¢ |- 67 | A . % | B
18 B 43 c 68 D 93 D
19 A || 4 A 69 D o4 C
20 | ¢ 45 | D 70 | A 5 | B
21 B | 46 B 7 € 9% A
22 A 47 B 72| A 97 D
8 | A 8 | A B | 8 98 e
2 | c 9 | ¢ 74 A 99 A
5 B 50 B ] 75 B 10 | A
O L
3o%0 ¥ —a@‘"ﬁ



_ _ e e + 01 ~ /2019
e | O = — N s e
ST e < S, T =

 gftrfr st vl AT (F1090) YRS T (e wha) - 2019
- Sl s 202y
S2 - SHIFT-2

—= Q.Booklet Series-H
_Question_'_ Answer 1‘l.’.luestion Answer Question | Answer Question = Answer
No. Key No. Key No. | Key No. | Key
PART - 1
GENERAL SCIENCE AND ARITHMETIC PAR =2
. _ GENERALHINIDY
1 p | [ 26 A 51 D 76 c
T TN, T 7 | B
A ~ L = A B 1 A
R 29 < EL c _19 3 B
5 €, Ja v B 55 A 80 D
6 | & 31 D 56 C 81 D
7 | A 32 A 57 | D | 82 B
8 f£N\Y 2 | A 58 (L 83 A
9 A 34 | B 59 c 84 c
10, N0 35 € 60 A 85 C
1 e 3% | B 61 B 86 £
12 B || % | B B 87 | A
13 B 38 | A 6 | A | | 8 | D
i < = a 64 ) 89 B
15 A 40 A 65 £ 90 D
16 C 4 B 66 D 91 c
17 A 2 | c || @& D 92 A
18 A 43 D 68 D EE D
19 c 44 c 69 A 94 A
20 D 45 B 70 B 95 | B |
21 A % | D 71 c 9% A
2 | c 47 B | | 72 | D 97 A
3 | B 48 | A 73 A i
24 c 4 | 74 B 99 c
25 B |1 5 € 11 & C 100 g
()
Qe FEE



